TG=T ATATTS JSieh! 89S ST o 8

: B gTed I SR [IRaR
.9 T - Tgdeh! faavor
1 |1 dglgy RISl
> 4 |amrer 10,6 2, @R 1,70 ¢, (3.7 T 0.5 X
2 |eRed
4 =Tl 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
3 dog dglgql HIR
2 =T 10,3TeT 2, 81T 1,57 ¢, (36.197) Tder 0.5 forex
4 |HTHT S
> 2 |amEe 10,876 2, Frfde 1,7 ¢, (.F) T 0.5 e
5 |fae#ERr seard
> 4 AT 10,26 2,3 1,77 ¢, (.73 T Jer 0.5 e
6 |3fcar A
4 =T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 farex
7 T STFATeT
1 =T 10,3TeT 2, 81T 1,59 ¢, (6.137) Tder 0.5 farex
8 |HIHT A5
4 =T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 farex
?ﬁ N 5 15,276l 3, ETae 1,737 1,(3.757) T el 1 forex
10 | FETeR IAaFehr
3 1A 10,376 2, /fde 1,59 ¢, (&.73) Tder 0.5 forex
11 |3791eT AT
> 3 T 10,E7eT 2, A 1,73 ¢, (&.73) T T 0.5 forex
12 |fg&r e @r
3 1A 10,376 2, /fde 1,59 ¢, (&.73) Tder 0.5 forex
13 |[e= CRICCY
Tl'é’ 6 AA15, 5T 3, /afaet 1,79 1,(&.5) Tder 1 forex
14 |l TETGT ICK:
4 =T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
15 |forelr AT
3 A 10,376 2, 8fde 1,597 ¢, (&.73) Tder 0.5 forex
16 CRIANEIE
ﬁ—g 4 =T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
17  |3ATST ISTAT
4 =T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
18 |FeART THSK
> 5 T 15,2Tel 3, FAMa 1,777 1,(35.757) T el 1 forex
19 |scfoee gFeR
2= 5 A L5 &l 3,8 1,701 1,(3.73) Ter 1 forex
20  |Hediy dermgalr
2 A 10,37 2, 8fde 1,59 ¢, (&.53) Tder 0.5 forex




21 |35l dessfT
> AT 10,37 2, 8RN3e 1,797 ¢, (&.53) T 0.5 e
22 |uAdgIT fA.F
A 15,87 3, 8fdel 1,57+ 1,(3&.75) Tde 1 folex
23 FETGY THHR
?ﬁ A 15,87 3, 8fdel 1,57 1,(3&.75) Tde 1 folex
24 |STTeTeRT 3ULhIET
2 ATAe 10,376l 2,8 1,7 ¢, (F.13) T 0.5 fex
25 |3ree o
2 2 ATAe 10,376l 2,8 1,7 ¢, (F.13) TAeT 0.5 fex
26 |®iOleg $Tolel
2 ATAe 10,376l 2,8 1,7 ¢, (F.13) TAeTr 0.5 fex
27 |3TFer e
2 ATAE15,3Tel 3, 8T 1,77 1,(F.131) T 1 e
28 |07 dgIgy afol
=T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 farex
29 |pHAR H
2 AL, 2T 3,8t 1,57+ 1,(%.73) Tade 1 foex
30 JH aw Y3l
=T 10,3TeT 2, 81T 1,57 ¢, (.137) Tder 0.5 farex
31 | afar
S T 10,3TeT 2,83 1,737 ¢, (.73 Taer 0.5 fex
32 |f3fcer amarser
=T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
33 |l ggTeY A+
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
34 agIey ICK
g_éﬁ =T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
35 |ofadea s
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
36 |wgAfas
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
37 |@soTfasw
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
38 [cwfa=
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
39 | fa=s
=T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
40 |AFara®
=T 10,8TeT 2, 8T 1,587 ¢, (.131) Tder 0.5 farex
41 |AfFar #ifE afr

A5, 8T 3, 8afaet 1,59 1,(&.53) Tae 1 e




42 |efaemm sfor
3 A 10,8767 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
43  |STaeTer giot
4 A 10,8761 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
44  |3A &
R T 4 A 10,8767 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
45  |3eg HATR FEET
2 5 LS &1 3,8 1,70 1, (.73 Taer 1 X
46  |fearer AT
5 AAL5, 8T 3, 8afadet 1,59 1,(&.73) Tder 1 forex
47  |dve FAR TS
2 4 T 10,3TeT 2,83 1,737 ¢, (.73 Taer 0.5 fex
48 |97 AR TS
2 11 |=mererts grer 3, @Rnfae 1,7 1,(%.550) T 1 frex
49 |AT FERY TS
2 4 T 10,3TeT 2,83 1,737 ¢, (.73 Taer 0.5 fex
50 |@f@aras
4 =T 10,3TeT 2, 81T 1,57 ¢, (6.131) Tder 0.5 farex
51 |erf&e foeg
> 4 A 10,26 2,3 1,77 ¢, (3.7 T Jer 0.5 e
52 |sa A @s
2 1 TS 10,26 2,3 1,77 ¢, (3.F3) T er 0.5 e
53 |3faearfas
1 =T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
54 |fasq FAR A&
22 3 TS 10,&7eT 2, 1A 1,73 ¢, (&.73) T T 0.5 forex
55 |efaemar 3w
3 1A 10,376 2, /fde 1,59 ¢, (&.73) Tder 0.5 forex
56 | JgleY fa.%
5 HTHEL5,3Tel 3, \TAT 1,77 1,(3%.731) T el 1 faex
57  |cer 9gieR &
3 A 10,376 2,8 fde 1,59 ¢, (&.53) Tder 0.5 forex
58 |ufeT e/t
6 AAA15, 3T 3, 8afaet 1,59 1,(&.53) Tae 1 forex
59 |(@fFeTA®
3 A 10,376 2,8 fde 1,59 ¢, (&.53) Tder 0.5 forex
60 [ARTTE.®
6 TAAA15, 3T 3, 8afaet 1,59 1,(&.53) Tde 1 forex
61 |Gifa=r seare
2 4 TS 10,2161 2,3 1,47 ¢, (3.F30) T er 0.5 fa¥ex
62 |fAH ggTeX A+
4 =TT 10,8TeT 2, 81T 1,587 ¢, (.137) Tder 0.5 farex




63 [T+
A 15,87 3, 8fdet 1,77+ 1,(3&.75) Tde 1 folex
64 |[FARTE®
> A5, 31l 3, W 1,7 1,(3&.75) T e 1 forex
65 |careT &g warg
A 15,87 3, 8fdel 1,57 1,(3&.75) Tde 1 folex
66 Shoddl W
=T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
67 |faar amargeT
HTHL5,3Tel 3, /1T 1,70 1,(3%.F9) Taer 1 faex
68 |@Rer arATgeT
HTHL5,3Tel 3, /1T 1,7 1,(3%.F9) Taer 1 foaex
69 |Aeaq@.®
2 ATAe 10,376l 2,8 1,7 ¢, (F.73) TAeTr 0.5 fex
70 [T
HTHTL5,3Tel 3\ 1,77 1,(3.73) Taer 1 faex
71 |[ORIAR TS
TTHTL5,3Tel 3, WA 1,77 1,(%.F3) T e 1 faex
72 |\ FEIgR e
=T 10,3TeT 2, 81T 1,57 ¢, (.137) Tder 0.5 farex
73 |} dgigy THeR
TTHTL5,3Tel 3\ 1,77 1,(3.73) Taer 1 faex
74 | Tad
=T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
75 |3AFN dglgX HITec
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
76 |@Fed gmar IR
=T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
77 |gEE TS
2 A 10,376l 2,8 1,7 ¢, (F.73) TdeTr 0.5 fex
78 |ReREA TS
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
79 |fRET TS
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
80 [T
¢ T 10,3TeT 2,83 1,737 ¢, (6.7 Tder 0.5 flex
81 |3TdTel 3Tel
=T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
82 |feeraTar Hamedr
=T 10,8TeT 2, 8T 1,587 ¢, (.131) Tder 0.5 farex
83 |(eFHARTTS

=S 10,8Tel 2, {1 1,57 ¢,

(. Tder 0.5 forex




84  |HaTelagIey fa. %
7 A 15,87 3, 8fdet 1,77+ 1,(3&.75) Tde 1 folex
85 | Hamedr
4 A 10,8761 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
86 ﬂ%ra
T 5 A 15,87 3, 8fdel 1,57 1,(3&.75) Tde 1 folex
87 |ATHRT IS
1 =T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
88 R
i Tl'é’ 3 AT 10,876 2, 8fdeT 1,59 ¢, (&.73) Tder 0.5 frex
89 |GfaaT Tder
4 =T 10,3TeT 2, 8T 1,57 ¢, (6.137) Tder 0.5 falex
90 |CHHAIT YThIT
3 AT 10,876 2,8 fde 1,59 ¢, (&.73) Tder 0.5 frex
91 HIEIGT TFdel
5 AL, g1 3, /afaet 1,59 1,(&.53) Tder 1 forex
92 |HFA delql sh&al
3 AT 10,876 2, \fde 1,59 ¢, (&.73) Tder 0.5 forex
93 |AIfd dgley hFaX
4 =T 10,3TeT 2, 81T 1,57 ¢, (.137) Tder 0.5 farex
94 |(FaTfaF
> 3 TS 10,&7eT 2,8a 1,73 ¢, (%.7) T T 0.5 forex
95  |Hedasigy faRe
> 3 TS 10,E7eT 2, 1A 1,73 ¢, (&.7) T T 0.5 forex
96 |ATRS B
4 =T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
97 |G g
> 4 TS 10,26 2,3 1,77 ¢, (3.7 T er 0.5 e
98  |qUTagIeY Halecit
© 4 TS 10,26 2,3 1,77 ¢, (3.F3) T er 0.5 e
99 [#Er arATSeT
11 |=mers,grer 3,8 fasT 1,5+ 1,(3.59) Taer 1 e
100 (31 o} dgieR fagsy
> 3 TS 10,&7eT 2, 1,73 ¢, (%.73) T T 0.5 forex
101 |IRTHRIT HIATed!
2 =T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
102 |fAaT At
3 A 10,376 2, 8fde 1,597 ¢, (&.73) Tder 0.5 forex
103 [¢fa MY
4 =T 10,8TeT 2, 8T 1,587 ¢, (.131) Tder 0.5 farex
104 |31 TEIET hlehf
4 =TT 10,8TeT 2, 81T 1,587 ¢, (.137) Tder 0.5 farex




105 (9T A6
A 15,87 3, 8fdet 1,77+ 1,(3&.75) Tde 1 folex
106  |d7eFcIagicY fa.
A 15,87 3, 8fdel 1,57+ 1,(3&.75) Tde 1 folex
107 |HT afer
A 15,87 3, 8fdel 1,57 1,(3&.75) Tde 1 folex
108  [SRra@Igy
Tlé- =T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
109 (3T Wrsffer
2 ATAe 10,376l 2,8 1,7 ¢, (F.13) TAeT 0.5 fex
110 |AdSARY TS
2 AL, 2T 3, faeT 1,7+ 1,(3&.5) Tade 1 foex
111 |IH ggley
Tlé' HTHEL5,3Tel 3, /1T 1,77 1,(3.F9) Taer 1 foeX
112 3191 RATS
2 A 10,376l 2,8 1,7 ¢, (F.13) Tder 0.5 fex
113 |fasorvare aifer
2 A 10,376l 2,8 1,7 ¢, (F.13) Tder 0.5 fex
114 |[SodARY A&
2 A 10,31 2,8 1,73 ¢, (&.53) Tder 0.5 forex
115 |Gfe¥dT arATST
2 A 10,376l 2,8 1,7 ¢, (F.13) Tder 0.5 fex
116 g‘mam HEEIIQ
N AL, ETe 3,/ 1,57+ 1,(%.f3) Tader 1 foex
117  |#AIdeiey fa.
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
118 RAvfa®
AL, 3Tel 3, \TAT 1,77 1,(3%.731) T el 1 faex
119 |{HAdE E,:I wsia
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
120 |9@sa
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
121 |feo@mr g
TTHEL5,3Tel 3, /AT 1,57 1,(3%.F30) T e 1 faex
122 |FHAT TS
=T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
123 |
2 A 10,81 2,8 1,57 ¢, (&.53) Tder 0.5 forex
124 |gfAarfas
2 AL, gl 3,/ 1,577 1,(3.53) T el 1 faex
125 |GfAeTfa®

=TT 10,8TeT 2, 81T 1,587 ¢, (.137) Tder 0.5 farex




126 [ fa=®
A 10,8767 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
127 |99 dgrey arfarar
> A L5, 2Tel 3, 8RN 1,7 1,(F.30) T 1 e
128 |Rear AT
> AT 10,37l 2,8WRN3e 1,797 ¢, (&.530) T 0.5 e
129 |foR< 3TeTEHT
=T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
130 |[TEHFaER TS
2 A 10,81 2, 8faeT 1,53 ¢, (&.53) Tder 0.5 forex
131 [T ggIgY arfarar
HTHL5,3Tel 3, /1T 1,7 1,(3%.F9) Taer 1 foaex
132 |<e%; @GN arfaran
=T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 forex
133 |FRagle A
=T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 farex
134 dEIGT A5
E’I?T TTHTL5,3Tel 3, WA 1,77 1,(%.F3) T e 1 faex
135 |YHTAg shedlel
2 A5, 376l 3, AT 1,77 1,(F.31) T 1 e
136 |Meg @arg
TTHTL5,3Tel 3\ 1,77 1,(3.73) Taer 1 faex
137 Rfeer ot
AL, 3Tel 3, \TAT 1,77 1,(3%.731) T el 1 faex
138 |FTerdT TS
HTHEL5,3Tel 3\ 1,57 1,(3.731) T el 1 faex
139 |dcd dgTgY
i Tlé ATAe 10,376l 2,8 1,7 ¢, (F.73) TAer 0.5 e
140 |9f&eT gaeT
HTHEL5,3Tel 3, \TAT 1,77 1,(3%.731) T el 1 faex
141 |9eH dgigl THHhR
TTHEL5,3Tel 3, /AT 1,57 1,(3%.F30) T e 1 faex
142 %liaaglgg
Tl'é’ =T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
143 SICIEETI
o A 10,376l 2,8 1,7 ¢, (F.13) Tder 0.5 fex
144  |SHCT dTHTSIT
=T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
145  |9fq=r arATgeT
A L5,3Tel 3, WA 1,57 1,(3.730) T el 1 faex
146 |@gITagIey fa.&

A5, 8T 3, 8afaet 1,59 1,(&.53) Tae 1 e




147 |f3&T QST
A 15,87 3, 8fdet 1,77+ 1,(3&.75) Tde 1 folex
148 |ATAS drATSeT
A 15,87 3, 8fdel 1,57+ 1,(3&.75) Tde 1 folex
149 |ATIH ArAZT
A 10,8767 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
150 |Tegr dTHTST
=T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
151 (3 fa&
HTHL5,3Tel 3, /1T 1,70 1,(3%.F9) Taer 1 faex
152 |[Rarfa=s
HTHL5,3Tel 3, /1T 1,7 1,(3%.F9) Taer 1 foaex
153  |hel GETeY THHR
2 A 10,81 2, 8nfaeT 1,57 ¢, (&.53) Tder 0.5 forex
154 |fRFAT THRR
=T 10,3TeT 2, 81T 1,57 ¢, (6.137) Tder 0.5 farex
155 |[T#RIfST TR
=T 10,3TeT 2, 81T 1,57 ¢, (6.131) Tder 0.5 farex
156 |SiTeTehT 3UTahIer
2 A 10,376l 2,8 1,7 ¢, (F.73) Tder 0.5 fex
157 |3FaX dgIgy Tl
TTHTL5,3Tel 3\ 1,77 1,(3.73) Taer 1 faex
158 |fa#Fer fT.&
=T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
159 [aTepdAR fa.&
2 AL, ETe 3, 1,57+ 1,(%.73) Tader 1 foex
160 |ehHeCIl shedlel
2 A5, 5Tl 3,8 1,77 1,(F.3)) T 1 e
161 |FHAcIdEIR [a.5
HTHEL5,3Tel 3, \TAT 1,77 1,(3%.731) T el 1 faex
162 ATHATST
TTHEL5,3Tel 3, /AT 1,57 1,(3%.F30) T e 1 faex
163 BECHLA
IT%* TTHEL5,3Tel 3, /AT 1,57 1,(3%.F30) T e 1 faex
164 |[3AFaT ggeigl
Tl'é’ =T 10,8TeT 2, 8T 1,587 ¢, (6.137) Tder 0.5 farex
165 |Rar
=T 10,8TeT 2, 8T 1,577 ¢, (.137) Tder 0.5 farex
166 |Rufa=s
=T 10,8TeT 2, 8T 1,587 ¢, (.131) Tder 0.5 farex
167 [¥Ragrey fa.

A5, 8T 3, 8afaet 1,59 1,(&.53) Tae 1 e




168 |[HHAR dTATST
> A5, E1el 3, WA 1,7 1,(3&.75) Taer 1 forex
169 [(3fFgwr s
A 10,8761 2,8 1fde 1,59 ¢, (&.75) Tde 0.5 ferex
170 |TSTHARY TS
2 A5, 316l 3, WA 1,7 1,(3F.75) T e 1 forex
171  |eT&HUT umgi?»l
=T 10,3TeT 2, 81T 1,57 ¢, (36.137) Tder 0.5 forex
172 ilo‘-IEIEIE,_’Q
Tlé' HTHL5,3Tel 3, /1T 1,70 1,(3%.F9) Taer 1 faex
173 |PE@d TS
HTHL5,3Tel 3, /1T 1,7 1,(3%.F9) Taer 1 foaex
174 |1 ERER
Tlé' HTHEL5,3Tel 3, /1T 1,77 1,(3.F9) Taer 1 foeX
175 Regfas®
2 A5, 376l 3, AT 1,77 1,(F.31) T 1 e
176 |fGus fa&
TTHTL5,3Tel 3, WA 1,77 1,(%.F3) T e 1 faex
177 |@goTaeiey fa.&
h A 10,31 2,8 1,73 ¢, (&.53) Tder 0.5 forex
178  |ueidgicy fa.&
TTHTL5,3Tel 3\ 1,77 1,(3.73) Taer 1 faex
179 |vapaER @&
2 AL, ETe 3,/ 1,57+ 1,(%.f3) Tader 1 foex
180 |Tegwer A&
HTHEL5,3Tel 3\ 1,57 1,(3.731) T el 1 faex
181 [gRfa=®
=T 10,8TeT 2, 81T 1,577 ¢, (.137) Tder 0.5 falex
182 |9Tad S
=T 10,8TeT 2,81 1,577 ¢, (.137) Tder 0.5 farex
183 |FAATS
TTHEL5,3Tel 3, /AT 1,57 1,(3%.F30) T e 1 faex
184 |3 a’@@ chcdlel
- 2 LS, 8Tl 3,/ 1,57+ 1,(%.53) Tader 1 faex
185  |Jerdm fa. &

AAA15, 3T 3, 8afaet 1,59 1,(&.53) Tae 1 forex




